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SH: I
Hu: 59 & BUS AY
S9l: = Jl= =X JIE O CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
SRR 39,495, 174 36,099,060 3,396,114
2 10,256,449 9,472,639 783,810
Py 4,712,588 4,641,588 71,000
g 375.863 375.863 0
= 2,338,506 1,724,966 613,540
s 21,811,768 19,884,004 1,927,764
=9 52 2 ALY 39,052,338 36,045, 105 3,007,233
=2 10,256,449 9,472,639 783,810
Xl 4,712,588 4,641,588 71,000
gl 375.863 375.863 0
< 2,338,506 1,724,966 613,540
2 21,368,932 19,830,049 1,538,883
S 08 SR O 3,854,107 1,777,807 2,076,300
2 660,060 56,760 603,300
p] 29,505 29,505 0
< 1,030,894 427,684 603,210
2 2,133,648 1,263,858 869,790
SUEEPYSY IS 104,000 99,000 5,000
201 L2 | 12,000 7,000 5,000
03 BAL2 bl 10,000 5,000 5,000
OSZAD A 10,000 5,000 5,000
SUAMY el 112,270 31,270 81,000
201 Lt 2| 24,270 23,270 1,000
02 232 6,000 5,000 1,000
omEMNY KX 4,000 3,000 1,000
207 91K 2 bl 80,000 0 80,000
01 ¢l 80,000 0 80,000
OYMT 5952 U ABNY A 48
o1 80,000 0 80,000
SUPYALY (HEYX ) 10,000 15,000 A5,000
2 6,000 9,000 £3,000
< 1,200 1,800 A600
2 2,800 4,200 A 1,400
307 @120l ™ 10,000 15,000 A5,000
2 6,000 9,000 £3,000
< 1,200 1,800 A600
2 2,800 4,200 A 1,400
02 SIHFMAYEE 10,000 15,000 £5,000
O=AYALY XA 10,000 15,000 £5,000
2 6,000 9,000 £3,000
< 1,200 1,800 A 600
2 2,800 4,200 A1,400
Ol&sRIME 2YXIH 125,300 119,000 6,300
< 26,500 26,500 0
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2N sYHHD
M =Y =& 243 ALY
el =& Il sX0/8 0t (Sl & &)
SA-EB - BAEH) - NRAY - BHES 0] &b 2 p/E-F HI RS2
307 21201 & 125,300 119,000 6,300
< 26,500 26,500 0
= 98,800 92,500 6,300
02 HAHFHYANEEX 125,300 119,000 6,300
Odsgeldy 29X A 125,300 119,000 6,300
=) 26,500 26,500 0
s 98,800 92,500 6,300
NNl S=s34EH X 142,000 122,000 20,000
301 et A= 142,000 122,000 20,000
MIIEEdS3 142,000 122,000 20,000
O1g M= s34 NS AL 142,000 122,000 20,000
sl MMIE X 90,000 80,000 10,000
< 27,000 24,000 3,000
= 63,000 56,000 7,000
301 et A3z 90,000 80,000 10,000
< 27,000 24,000 3,000
[ia 63,000 56,000 7,000
NJIEEd=s 90,000 80,000 10,000
O4d=sgel da3tE & 90,000 80,000 10,000
=) 27,000 24,000 3,000
[ia 63,000 56,000 7,000
ddsgel 433 & 2,028,600 69,600 1,959,000
= 654,060 47,760 606,300
< 607,362 6,552 600,810
= 767,178 15,288 751,890
307 21201 & 73,800 64,800 9,000
= 51,660 45,360 6,300
< 6,642 5,832 810
= 15,498 13,608 1,890
02 HAF YA EX 73,800 64,800 9,000
OadE=sgel Isd3a XS 73,800 64,800 9,000
= 51,660 45,360 6,300
< 6,642 5,832 810
[ia 15,498 13,608 1,890
401 AIEHI L 20 750,000 0 750,000
01 A& HI 750,000 0 750,000
O3F¥Ys Zas=sd EXNLH 600,000 0 600,000
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=) 600,000 0 600,000
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)
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2 70,000 0 70,000
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p 35,000 0 35,000
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x 80,000 80,000 0
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= 513,432 515,598 A2,166
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01 QIR 2 AR 2 (RHTHE ) 132,672 136,576 £3,904
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= 2,000 0 2,000
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= 0 2,000 A 2,000
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20l =S A BRI 1,595,557 1,461,420 134,137

402 2I2tXt=01 & 1,579,557 1,445,420 134,137

01 U2 EALE X (XA ) 1,579,557 1,445,420 134,137
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07 HREHASLES 0 4,200 ~4,200
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= 138,444 110,504 27,940
< 62,300 49,727 12,573
= 145,366 116,029 29,337
402 12 X0 A 346,110 276,260 69,850
= 138,444 110,504 27,940
< 62,300 49,727 12,573
= 145,366 116,029 29,337
02 LT E A2 E (Ol H T ) 346,110 276,260 69,850
OUNE=E- N IVIEDNNVE=2=-2=-3(V IEPNR<E2Y) 346,110 276,260 69,850
= 138,444 110,504 27,940
< 62,300 49,727 12,573
= 145,366 116,029 29,337
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= 150,000 0 150,000
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= 150,000 0 150,000
= 120,000 0 120,000
DEUsSUE 0E 243 11,826,776 11,743,796 82,980
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< 38,782 38,782 0
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sSE&= 0HE 248 XA 173,559 164,559 9,000

101 1Al 61,059 57,059 4,000

03 2N AHAAN2Z2NHE =+ 4,000 0 4,000

OMEEXE 4,000 0 4,000

405 TtobFH S| 5,000 0 5,000

01 AL ESH SH 5,000 0 5,000

OAMN 285 #¢ 5,000 0 5,000

sS4 BE 2435 & 27,580 15,200 12,380

307 glztol & 27,580 15,200 12,380

02 (It HAMAEE 27,580 15,200 12,380

OsStts BEdA FHEH X 27,580 15,200 12,380
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201 LEr2 A | 310,000 310,000 0
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OHAl 218 E2 (L4, &) 100,000 100,000 0

sAE s 84 N&E 20,000 40,000 A20,000

402 2I2tXt=01& 20,000 40,000 A20,000

01 U2 E2ALE X (KA ) 20,000 40,000 A20,000

Ox7l s43J1g 84 NE 20,000 40,000 220,000

SASIY XSEXNIAMNG 337,600 346,000 A 8,400

Xl 259,000 265,000 26,000

s 78,600 81,000 A 2,400

307 glz2+0l & 0 8,400 A 8,400

Xl 0 6,000 A 6,000

s 0 2,400 A2,400

02 It HAAMAEE 0 8,400 A 8,400

OHACCP At=2te|l &8 K& 0 8,400 A 8,400

Xl 0 6,000 A 6,000

= 0 2,400 A 2,400

IRUAXY SEXNAANG(ZEREE) 20,000 0 20,000
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HsHE EHNE ALY 966,706 803,706 163,000
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01 A& dl 150,000 50,000 100,000
OUANO &7 2 JIBFXE ALY 100,000 0 100,000
sEZY=H =4 N (W02 eldus XA 2,400 3,088 A 688

)

= 1,500 1,930 A430
S 270 347 NTT
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= 1,500 1,930 A 430
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